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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In

“Registration

No.

[Name :

“Exam Venue [iON Digital Zone iDZ Rajarajeswari Medical College
: and Hospital

[Exam Time : [12:30 PM - 2:00 PM

[Exam Date : [15/02/2019

Section : General Section

Q.1 In a certain code, LOVE is written as OLEV. How will IRIS be written in that code?
Ans X 1. TIRS

X 2 IRSI

X 3. RSII

v 4 RISI

Question ID : 9895803602
Chosen Option : 1

Q-2 Tp a certain code, AXE is written as 120. How will FEE be written in that code?
Ans of 1150

X 2 80

X 360

X 420

Question ID : 9895803603
Chosen Option : 3

Q3 Choose the odd one out of the given options.

Ans X 1 BIJ
X 2 DGJ
X 3. EGI
v 4 CHI

Question ID : 9895803597
Chosen Option : 3

Q.4 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?
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Question ID : 9895803619
Chosen Option : 4

Q.5 Select the option that is related to the third term in the same way as the second term is related to the first term.
EFG:JLN::GKM:?

Ans x 1. NZY

V2 NVZ

X 3. NUZ

X 4 KMG

Question ID : 9895803601
Chosen Option : 4

Q6 Select the Venn diagram that best represents the given set of classes.

Furniture, Chairs, Trees

Ans

v

1©©0

Question ID : 9895803620
Chosen Option : 4

Q.7 Eight friends A, B, C, D, E. F, G and H are sitting around a circular table facing each other for a lunch. A is opposite D
and third to the right of B. G is between A and F. H is to the immediate right of A. E is between C and D. Who is sitting

opposite C?
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X
Mo - oW

Question ID : 9895803605
Chosen Option : 3

Q.8 Select the option that will correctly replace the question mark (?) in the given pattern.

N

\ZIN
Ans X1 206

V2 216

X3 6
X 4 36

Question ID : 9895803613
Chosen Option : 3

Q.9 I.KL.M,N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday.
not necessarily in the same order.

J teaches Science on Wednesday. O teaches Math second after J. K teaches on the first day of the week, but teaches
neither Hindi nor English. M teaches English before N and L teaches Arts before J. Who teaches on Saturday?

Ans Xl_ M
v 2N
X3 K
X4 L

Question ID : 9895803606
Chosen Option : 2

Q.1 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
0  pattern. (Rotation is not allowed).

4

Ans
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v

Question ID : 9895803616
Chosen Option : 4

Q.1 Choose the option that most closely resembles the mirror image of the given figure when the mirror is placed at right
1 side

X 3

v o3

®| 9|9 |®

Question ID : 9895803618
Chosen Option : 4

Q.1 Seven friends O. P. Q, R, S. T and U are watching a movie sitting in a row. P, is sitting at one extreme end. Q is sitting to
2 the immediate left of S. P is sitting second to the right of T. U is not sitting at any extreme end. O is sitting between R
and T. Who is sitting between P and T?

Ans Xl- Q
X 2R
VR
X4 0

Question ID : 9895803604
Chosen Option : 2

Qél Choose the option that would follow next in the given figure series.

V6|46 [ IR |F| ?

Ans

K3

B
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x| o

Question ID : 9895803615
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
Pathology : Diseases : : Astronomy : ?

Ans X 1. Future
& 2 Soil
v 3 Planets
< 4 Shells

Question ID : 9895803599
Chosen Option : 1

Qél Select the option that will correctly replace the question mark (?) in the series.

109, 105, 89, 53. 2
Ans xl- 10
X211
X3 -10
v -1l

Question ID : 9895803609
Chosen Option : 1

Q.1 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)
6

X
| ] (1] |2

v

Question ID : 9895803617
Chosen Option : 1

Q7-1 Select the option that will correctly replace the question mark (?) in the series.

TOD, RQB, PSZ, NUX,?
Ans x 1. LWW
V2 LWV
X 3 LVW
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X 4 LWU

Question ID : 9895803596
Chosen Option : 4

%! Choose the odd number out of the given options.

Ans x 1. 45
X275
V'3 85
X 4 105

Question ID : 9895803612
Chosen Option : 1

Q_l The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
9 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1)  Allnails are pins.
2)  All hammers are pins.
Conclusion:
I. No nail is a pin.
II. Some pins are nails.

Ans X 1. Neither conclusion I nor conclusion II follows.
' 2. Only conclusion II follows.

/< 3. Only conclusion I follows.

/< 4 Both conclusions follow.

Question ID : 9895803607
Chosen Option : 3

Qo-2 Select the option that will correctly replace the question mark (?) in the series.

9, 21, 38, 65, ?

Ans X 1.125
X 2 115
X 3 105
v 2 107

Question ID : 9895803610
Chosen Option : 4

Ql'z Choose the odd one out of the given options.

Ans  of 1. Purple
X 2 Yellow
< 3 Red
X 4 Blue

Question ID : 9895803598
Chosen Option : 3
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Q.2 Select the option that is related to the third number in the same way as the second number is related to the first number.

24:4::45:7

X
w
Ch G0 =1 LA

Question ID : 9895803611
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
3
Famous : Obscure : : Crazy : ?

Ans  of 1 Sane
X 2. Clever
X 3. Sink
/& 4. Foolish

Question ID : 9895803600
Chosen Option : 2

Qciz Find out the two signs to be interchanged to make the following equation correct.

15+15x15-15+15=15
Ans of 1 _and -

X 2 +and-

A 3 xand +

X 4 +and x

Question ID : 9895803614
Chosen Option : 3

Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
5 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some angers are griefs.
2) Some griefs are loves.

Conclusion:
1. Some griefs are angers.

II. Some loves are griefs.

Ans  of 1. Both conclusions follow.

< 2. Only conclusion II follows.
/< 3. Only conclusion I follows.

/< 4. Neither conclusion I nor conclusion IT follows.

Question ID : 9895803608
Chosen Option : 1

%2 With which Mughal ruler is the Moti Masjid in Agra associated?

Ans 1. Aurangzeb
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X 2. Akbar
7% 3. Humayun
4. Shah Jahan

Question ID : 9895805001
Chosen Option : 2

Q.2 Which of the following statements is NOT correct about the factors that gave rise to the Consumer Movement in India?
7

Ans X 1. Frequent food shortages
< 2. Hoarding and Black Marketing

/< 3. Adulteration of food
' . Tax on soft beverages

Question ID : 9895804992
Chosen Option : 1

Qéz Which festival is celebrated to mark the birth anniversary of Prophet Muhammad?

Ans X 1. Eid-ul-fitr
& 2. Shab-i-baraat
X 3. Id-ul-azha
v 4 Milad-un-nabi

Question ID : 9895804987
Chosen Option : 1

%2 What are dolphins, porpoises and whales called?
Ans X 1. smack

< 2. Amphibian

& 3. Odontocetes

v 4 Cetaceans

Question ID : 9895804984
Chosen Option : 2

Q63 ‘Which food delivery service provider was recently acquired by Ola?
Ans  of 1. Foodpanda

X 2. Uber eats
/< 3. Zomato

X 4 Swiggy

Question ID : 9895804996
Chosen Option : 4

Q1'3 What is the child sex ratio?
Ans x 1.

Number of males per thousand females in the age group 0-15

' 2. Number of females per thousand males in the age group 0-6
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2< 3. Number of females per hundred males in the age group 0-6

54
Number of females per hundred males in the age group 0-15

Question ID : 9895804991
Chosen Option : 1

%3 Who won his first Stuttgart Open men’s singles title in June 20182
Ans X 1. Dominic Thiem

/< 2. Nicolas Mahut

' 2 Roger Federer

< 4. Milos Raonic

Question ID : 9895804980
Chosen Option : 3

3 . :
Q3 ‘When was Rowlatt Satyagraha launched and by whom?

Ans X 1. 1929, Mahatma Gandhi
< 2. 1915, Motilal Nehru
' 3. 1919, Mahatma Gandhi
7< 4.1930, C.R. Das

Question ID : 9895804978
Chosen Option : 2

Q.3 cropping refers to, growing two or more crops simultaneously on the same piece of land.
4

Ans X 1. Simple
X 2. Complex
v 2 Mixed
X 4 Inter

Question ID : 9895804998
Chosen Option : 1

%3 Which of the following is the national aquatic animal of India?

Ans X 1. Whale
& 2. Turtle
X 3. SeaHorse
« 2 River Dolphin

Question ID : 9895805000
Chosen Option : 4

%3 Which of the following is a subject of the state list?
Ans X 1. Banking

X 2. Defence
v 2 Police
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/< 4. Forests

Question ID : 9895804990
Chosen Option : 1

23 Which British Viceroy in India carried out the partition of Bengal?
Ans X 1. Lord Canning
& 2. Lord Lytton

& 3. Lord Dalhousie
' % TLord Curzon

Question ID : 9895805002
Chosen Option : 4

Q.3 The National Sports Development Fund (NSDF) was established by the Central Government in the year .

8

Ans X 1.1997
v 21998
X 31996
X 41999

Question ID : 9895804982
Chosen Option : 4

Q9-3 ‘Which startup was recently honoured by UN for its efforts in cleaning the Ganga river?

Ans 1. Navdanya Trust
/< 2. Satpuda foundation
' 2 HelpUsGreen
& 4 World Wide Fund

Question ID : 9895804994
Chosen Option : 2

Q0-4 ‘Double coincidence of wants’ is a feature of which system?
Ans X" 1. Forex system

' 2. Barter system

< 3. Equity system

/< 4. Liquidity system

Question ID : 9895804981
Chosen Option : 1

24 Curd is formed with the help of bacteria.

Ans X 1. Rifidobacterium bifidum
& 2. Lactic acid
« 3. Lactobacillus acidophilus

X 4. Bacillus coagulans

(
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Question ID : 9895804999
Chosen Option : 1

Qz"‘ Which of these countries is an example of ‘holding together federation’?

Ans X 1. New Zealand
& 2. Australia
X 3 USA
v 4 India

Question ID : 9895804989
Chosen Option : 4

Q?;“ Kalaripayattu is the martial art form prevalent in which Indian state?

Ans X 1. Tamil Nadu
v 2 Kerala
& 3. Karnataka
/< 4 Odisha

Question ID : 9895804983
Chosen Option : 2

Q.4 Which option represents the crops that are grown in June-July and are harvested in September-Qctober?
4

Ans  of 1. Rice, cotton
/< 2. Melon, barley
7% 3. Cucumber. watermelon

/< 4. Peas, wheat

Question ID : 9895804986
Chosen Option : 1

Q_,;“ ‘Which Indian state is the largest bauxite producing state?
Ans o 1 Odisha

< 2. Bihar

/< 3. Madhya Pradesh

X 4. Tharkhand

Question ID : 9895804985
Chosen Option : 3

Qé“ ‘Which tennis player received the Padma Shri in sports in 2018?
Ans X1 Yuki Bhambri

X 2. Sania Mirza

/< 3. Leander Paes

v % Somdev Devvarman

Question ID : 9895804995
Chosen Option : 2
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24 Who is the author of the book ‘Exam Warriors®?

Ans  of 1. Narendra Modi
/< 2. Manmohan Singh
/< 3. Sushma Swaraj
X 4. Arun Jaitley

Question ID : 9895804993
Chosen Option : 1

Qé4 Which declaration was signed at UNCED 1992 at Rio De Janeiro, Brazil?

Ans 1. Agenda 39
/< 2. Agenda 19
/< 3. Agenda 22
o 2. Agenda 21

Question ID : 9895804979
Chosen Option : 3

Q.4 -
o What is the range of pH scale?

Ans of 1 0to 14
X 2 1to 10
X31to7
X 4 0to10

Question ID : 9895804997
Chosen Option : 1

%5 What was the capital of the Mauryan empire?
Ans o 1 Pataliputra

X 2. Vaishali

X 3. Indraprastha

X 4 Kusinagra

Question ID : 9895804988
Chosen Option : 1

Q.5 A shopkeeper sells an article at a certain price. What is his gain or loss percent, if by selling it at 75% of that price, he
1 loses 10%?

Ans  of 1 Gain, 20%
X 2. Gain, 25%
7% 3. Loss, 20%
< 4. Loss, 25%

Question ID : 9895805160
Chosen Option : 2

Q.5 A man can row downstream a distance of 9 km in 2 hours and takes 6 hours while returning to the starting point. What
2 s the speed (in km/h) of the stream?
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Ans X 1. ¥
X225
Vs 15
X4 3

Question ID : 9895805171
Chosen Option : 3

Q.5 The average weight of a certain number of students in a group is 54 kg. if 12 students of average weight 52 kg join the
3 group, then the average weight of all the students in the group decreases by 750 g. what was the number of students,
initially in the group?

Ans Xl- 18
X224
X315
v 2 20

Question ID : 9895805156
Chosen Option : 1

Q‘is Surbhi can do a piece of work in 24 days. She completed E of the work

and then left it. Amita complete the remaining work in 10 days.
‘Working together, they will complete 125% of the same work in:

Ans 1. 10 days
X 2. 9 days
V 3. 12 days
X 4. 15 days

Question ID : 9895805174
Chosen Option : 1

Q.5 Study the following table and answer question.
5 Number of students appeared in an examination from five cities:

Cities | No. of Students | Ratio of
(in thousand) students passed
and failed

A 54 554

B 126 4:3

G 84 10:11

D 96 7

E 132 60

The ratio of the total number of students passed in the examination from cities A and D to that of students failed from
cities B and E?

Ans X'1.9:16
X25:9
X313:18
v 14:19

Question ID : 9895805175
Chosen Option : 1

Q.5 The ratio of ages of A and B. 4 years ago, was 5 : 7. The ratio of their ages after 4 years from now will be 7 : 9. What
6  will be the ratio of ages of A and B after 12 years from now?

Ans X1 §:13
X 213:17
vz0:11
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X 415:19

Question ID : 9895805163
Chosen Option : 4

Q.5 The surface area of a cuboidal box is 240 cm? and the length of its diagonal is 11 cm. What is the sum (in cm) of its
7 length, breadth and depth?

Ans x 1. 21
v 219
X 3 20
X 417

Question ID : 9895805170
Chosen Option : 4

Q.5 The area of an equilateral triangle is 6+/3 times the area of a rhombus whose one side measures 13 cm and one diagonal
8  is 10 cm. The length of side of the triangle, in cm, is:

Ans xl- 36‘\!6
X 2 2446
V'3 2445
< 4 1246

Question ID : 9895805168
Chosen Option : 4

Q.5 Letx be the least number which when divided by 12, 15, 18, 20 and 27, the remainder in each case is 2, but x is
9 divisible by 23. If x is divided by the sum of its digits then the quotient is:

Ans of 1196
X 2 149
X 3193
< 4199

Question ID : 9895805153
Chosen Option : 3

Q.6 Two trains A and B,186 m and 200'm long, are running at 64 km/h and 80 km/h, respectively on parallel tracks. If they
0 are running in the opposite directions, then how much time (in seconds) will a person sitting in the first train A take to
cross the other train?

Ans X155
V25
X3 6
X445

Question ID : 9895805172
Chosen Option : 4

Q.6 The ratios of spirit and water in vessels A and B are 4 : 5 and 7 : 11, respectively. The contents of A and B are mixed in
1 theratio 2 : 5. What is the ratio of spirit and water in the resulting solution?

Ans X'1.22:75

X2 53:75
V3 17:25
X 4.13:20
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Question ID : 9895805164
Chosen Option : 4

Q.6 The average of 17 numbers is 29. The average of first 9 numbers is 31 and the average of the last 9 numbers is 27. If oth
2 number is excluded, then what is the average of the remaining numbers?

Ans Xl- 45
X2 316
X 3 205
v 4 29

Question ID : 9895805157
Chosen Option : 4

Q.6

0.2 =0.20f 0.1-0.03 =06 of 0.01
3 The value of f !

0.25 x0.75+1.250f 0.4+0.125
Ans X'1.10.5and 11.5
A 2 11.5and 12.5
V'3 95and 10.5
X 4 85and 9.5

lies between:

Question ID : 9895805155
Chosen Option : 4

Q.6 The difference between the mean and median of the data 66, 59. 68, 63, 62. 59, 58, 536. 63, 63 is:
4

Ans (1. 0.4
X 21
X308
X405

Question ID : 9895805167
Chosen Option : 2

Q.6 A certain sum amounts to T9243.20 in 1 i years at 4% p.a. simple interest. What will be the simple interest on the same
5

sum for 7% years at 8% per annum?

Ans X 1. F5580
X 2 5223
v 3 T5232
X 4 T5508

Question ID : 9895805165
Chosen Option : 2

Q.6 A sum of 712000 will amount to T x at 12% p.a after 2 years, when the interest is compounded 8-monthly. The value of

6 xis (nearest to an integer)

Ans X1 15111
< 215083
V3 15117
X 415053

Question ID : 9895805166
Chosen Option : 2
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Q.6 The radius of a metallic sphere is 3 cm. it is melted and drawn into a wire of uniform circular section of 0.1 cm. the
7 length of the wire will be (in m):

Ans x 1. 44
X224
V'3 36
X 4 40

Question ID : 9895805169
Chosen Option : 2

Q.6 Amu sells an article at a profit of 25%. If she had bought it at 25% less and sold it for T30.25 less she would have gained
8  30%. What is the original price (in ¥) of the article?

Ans X 1. 108
X 2.105.50
X 3.105.80
v 2 110

Question ID : 9895805159
Chosen Option : 2

Q.6 The ratio of the mean proportional between 0.7 and 2.8 and the third proportional to 2.5 and 3.5 is:
9

Ans x 1.
v
5 3
X 4

W =1 kK =
e L ERE N

Question ID : 9895805162
Chosen Option : 2

Q.7 study the following table and answer question.
0 Number of students appeared in an examination from five cities:

Cities | No. of Students | Ratio of
(in thousand) students passed
and failed

A 54 5:4

B 126 4:3

& 84 10.: 11

D 96 9:7

E 132 6:5

The total number of students who appeared in the examination from cities C and D is what percent more than the total
number of students who failed in cities A, B and E? (nearest to an integer)

Ans xl_ 44
v 2 30
X 3 41
X4 42

Question ID : 9895805177
Chosen Option : 1

Q.7 2, 8 2, 2 1.+ 4 .
1 The value of o S of ;+ EﬂfTETJ of 45 =
Ans Xl-l
. 1
X21-

4
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Question ID : 9895805154
Chosen Option : 1

Q2-7 Study the following table and answer question.
Number of students appeared in an examination from five cities:

Cities | No. of Students | Ratio of
(in thousand) students passed
and failed

A 54 5:4

B 126 4:3

: 84 10: 11

D 96 S

E 132 6.5

The number of cities in which passing percentage of students is below 56% is:
Ans X 1.1
V23
X3 2
X 44

Question ID : 9895805176
Chosen Option : 3

Q.7 Two pipes X and Y can fill an empty tank in ‘t” minutes. If pipe X alone takes 6 minutes more than ‘t’ to fill the tank
3 and Y alone takes 54 minutes more than ‘t’to fill the tank, then X and Y together will fill the tank in:

Ans of 118 sec
X 2 12 sec
X 3 27 sec
X 4 24 sec

Question ID : 9895805173
Chosen Option : 3

Q.7 The price of oil is increased by 20%. However. the expenditure on it increases by 15%. What is the percentage increase
4  or decrease in the consumption of 0il?

Ans 1
XL 64— %, decrease
1
v 4; 0o, decrease
1 y
X 3 4-%, increase

1 i
X a 6 %, increase

Question ID : 9895805161
Chosen Option : 3

Q.7 A person makes a profit of 17% after allowing 10% discount on its marked price. If he gives 14% discount on the
5 marked price, then his profit percent is:
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Ans of 111.8

X 2146
X 3.10.6
X4 238

Question ID : 9895805158
Chosen Option : 3

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

They thought she was arrogant. and she was very shy.
Ans X' 1. as soon as she was
& 2. 50 that she was

/X 3. No improvement

v 4 whereas she was

Question ID : 9895804544
Chosen Option : 1

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error,

He not only got a scholarship and also a good job.

Ans o 1 and also
X 2. a good job.
/< 3. not only
/X 4. got a scholarship

Question ID : 9895804542
Chosen Option : 1

Q3 Select the most appropriate option to fill in the blank.

She did not reply. . my letter.
Ans (1. against
X 2 for
X 3. with
v to

Question ID : 9895804546
Chosen Option : 2

Q4 Select the correctly spelt word.

Ans X 1. Fullfil
< 2. Fullfill
v = Fulfil
& 4. Foolfil

Question ID : 9895804565
Chosen Option : 2
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Q5 Select the word which means the same as the group of words given.

The practice of marrying one person at a fime.
Ans  of 1. Monogamy

/X 2. Monotony

/X 3. Polygamy

/X 2. Bigamy

Question ID : 9895804558
Chosen Option : 1

Q6 Select the antonym of the given word.

Aftack

Ans of 1. Defence
X 2 Secure
X 3. Assent
X 4. Refuse

Question ID : 9895804557
Chosen Option : 4

Q7 Select the correctly spelt word.

Ans o 1. Remembrance
X 2. Remembranse
X 3. Remembarence
X 4 Rememberance

Question ID : 9895804564
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Flood is a common natural disaster. Scientists have often tried to

(1) floods. There are a number of reasons that (2)
floods, including heavy rain and cloudbursts. Due to these reasons.
rivers (3) their banks and cover the surrounding land.

Sometimes, dams break and cause disastrous floods that (4)
to large-scale destruction. Timely safety (5)
should be taken to save human life and property.

SubQuestion No : 8

Q8 Select the most appropriate option that will fill in the
blank number 1.

Ans X 1. control
v 2. predict
/< 3. prevent
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< 4. avoid
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Question ID : 9895804549
Chosen Option : 1

Comprehension:

In the following

rivers (3)

SubQuestion No : 9

blank number 2.
Ans X 1 gecur

7< 2. arouse
7< 3. happen

o 2 cause

passage some words have been deleted. Fill in the

blanks with the help of the alternatives given.

Flood is a commeon natural disaster. Scientists have often tried to
(1) floods. There are a number of reasons that (2)
floods, including heavy rain and cloudbursts. Due to these reasons,

their banks and cover the surrounding land.

Sometimes, dams break and cause disastrous floods that (4)
to large-scale destruction. Timely safety (5)
should be taken to save human life and property.

Q9 Select the most appropriate option that will fill in the

Question ID : 9895804550
Chosen Option : 3

Comprehension:

rivers (3)

SubQuestion No : 10

blank number 3.
Ans X 1. wash

& 2. drown

v 2 overflow
& 4 reach

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Flood is a common natural disaster. Scientists have often tried to
(1) floods. There are a number of reasons that (2)
floods, including heavy rain and cloudbursts. Due to these reasons,

their banks and cover the surrounding land.

Sometimes, dams break and cause disastrous floods that (4)
to large-scale destruction. Timely safety (5)
should be taken to save human life and property.

le Select the most appropriate option that will fill in the

Question ID : 9895804551
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Flood is a common natural disaster. Scientists have often tried to

(1) floods. There are a number of reasons that (2)
floods, including heavy rain and cloudbursts. Due to these reasons,
rivers (3) their banks and cover the surrounding land.

Sometimes, dams break and cause disastrous floods that (4)
to large-scale destruction. Timely safety (5)
should be taken to save human life and property.

SubQuestion No : 11

Q1'1 Select the most appropriate option that will fill in the
blank number 4.

Ans  of 1. lead
X 2 led

< 3. leading
X 4 leads

Question ID : 9895804552
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Flood is a common natural disaster. Scientists have often tried to

(1) floods. There are a number of reasons that (2)
floods, including heavy rain and cloudbursts. Due to these reasons,
rivers (3) their banks and cover the surrounding land.

Sometimes, dams break and cause disastrous floods that (4)
to large-scale destruction. Timely safety (5)
should be taken to save human life-and property.

SubQuestion No : 12

Qz'l Select the most-appropriate option that will fill in the
blank number 5.

Ans of 1. measures
< 2. products

/< 3. items
X 4. causes

Question ID : 9895804553
Chosen Option : 3

Q1 v ’
5 Select the synonym of the given word.

IDENTICAL

Ans X 1. Perfect

v 2. Same

/< 3. Corresponding
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& 4. Varied

Question ID : 9895804554
Chosen Option : 1

Q‘il Select the synonym of the given word.

GLEE

Ans o1 Happiness
/< 2. Hearty

< 3. Laughter
75 4. Jump

Question ID : 9895804555
Chosen Option : 2

Q_,;l Select the word which means the same as the group of words given.

That which can be seen through
Ans X 1. Vague
/X 2. Opaque
X 3. Foggy
' 4. Transparent

Question ID : 9895804559
Chosen Option : 4

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
6

The T.V. and the computer has been blamed for reduced reading habits amongst children.

Ans X 1. The T.V. and the computer

+ 2. has been blamed
X 3. for reduced
< 4. amongst children.

Question ID : 9895804540
Chosen Option : 2

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
7

I am fastly excited and really looking forward to the trip.

Ans X 1. to the trip
< 2. and really
< 3. looking forward
2 I am fastly

Question ID : 9895804541
Chosen Option : 2
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Select the most appropriate word to fill in the blank.

He likes to do stunts with his bike. He is a

Ans of 1 daredevil
X 2. busybody

< 3. wind bag
< 4. little bug

Question ID : 9895804562
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
9 substitute it, select No Improvement.

There were not any excuse for not participating in the competition.

Ans X 1. No improvement

& 2. no excuse
v 3. no excuses
/5 4. no any excuse

Question ID : 9895804545
Chosen Option : 1

%2 Select the antonym of the given word.

ABOVE

Ans  of 1. Below
X 2 Less
X 3. Down
X 4 Across

Question ID : 9895804556
Chosen Option : 1

Ql'z Select the option that means the same as the given idiom.

To measure swords
Ans X 1. To push an opponent

X 2. To argue with someone

& 3. To confess one’s mistake

v 4 To engage in competition

Question ID : 9895804874
Chosen Option : 4

Qz'z Select the option that means the same as the given idiom.

Out of order
Ans 3 1. Out of place

/< 2. In good condition
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' 3. Not in working condition

& 4 Out of nowhere

Question ID : 9895804561
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

You need to curb your temper or you might offended someone.

Ans X 1. you might be offend
' 2. you might offend

/X 3. No improvement

/< 4. you might offending

Question ID : 9895804543
Chosen Option : 4

22 Select the most appropriate option to fill in the blank.

I told him to avoid fighting, but he won’t .
Ans 1. doing it
X 2 did it
V'3 doit
< 4. does it

Question ID : 9895804547
Chosen Option : 2

Q2 Select the most appropriate word to fillin the blank.

My motheris  riser.
Ans X 1. g fast
2 an early
X 3. aquick
/< 4. an easy

Question ID : 9895804563
Chosen Option : 1

Section : Hindi Language

! R T 1 R & T 539G g = AL

I8 T T = FT ST FIT £
Ans le

v 2 gAY

X s gFEEn
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A4 e

Question ID : 9895804882
Chosen Option : --

2 Ry T e F UTETET AT F AT FI

Bl ED
Ans Jl. ;.1:5

<2 e
X s facamdt
K4 feEme

Question ID : 9895804895
Chosen Option : --

Q3 Tr=fafgm & @ 3w ReeT & o7 &Y e F B & gErEr # A e = g
v L S gt JHES H 98er
X2 e # R e 38 ;e

X 3. 3Eer & BT o @
X 4 3@l & TATT TT g

Ans

Question ID : 9895804896
Chosen Option : --

¢ fow 1T ereg W faeH o

30T
Ans of | ofr
X2 T
X 3 IAT
X 4 3sAT

Question ID : 9895804892
Chosen Option : --

®° for 7 S F RO oF aeg gET
Sr g7 #r g
Ans X 1wl
X 2 =geeh
v o gzeeft
X 4 gameRlr

Question ID : 9895804899
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l Chosen Option : -

®® T T TET w1 TE HE AT B S B I

FIT T[T F AR A [ F gedr FF Far |

Ans v P o
X 2. TS AT
X 3 TR & g e
X4 gy a=R &

Question ID : 9895804876
Chosen Option : --

Comprehension:

fow v 3=t # Fo ws g Rw aw § Rw aw
el 1 gear ¥ g = 911 99 §&
& fow 3w FeeT & a3 Hi

Teh FATE ATTF Teh g & 3T &)
gar g1 car=ndy eamET H @ T 39T

(2) & fo fasair ugrdr e 397 & @ o 5oy
S F TET foF 98 srcamEr o & dgET
. B wr AN Tcolr wr g  (4)
T & T Baer s & 39T FL) e
AMTAA FI §T & HRUT TgA Flal Tl TATS Temar
JhR Fr (5) 7RI FT 91T

SubQuestion No : 7
7 sz # wlad M e (1) F e swged
ASE BN -
Ans X1 HEF
v 2 FaATe
X 3 =
X4 TRt

Question ID : 9895804887
Chosen Option : --

Comprehension:
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fow v =t # Fo ws g Rw aw § Rw aw
el & Fear ¥ g = 93 99 §E
& fow 3w FeeT & a3 Hi

Teh HcOTERT T8 U did & 3 (1)
2IaT 21 Iy TET H TEe hr 3veT
(2) & T faseiy ugrdr aryar a9 # @ o s
ST T =T fF 98 e o = agE
(3) T 3T Tcarmy H IAT (4)
T & T Baer s & 39T F) e
AMHA FI T & HRUT TEA hlal el AT TehHar
JhR Fr (5) FET HT T

SubQuestion No : 8
*® sz # wfad wd e (2) F e swged
ASE BN -
Ans of 1 37TET
X 2w
X3 @
X 4 ATCH

Question ID : 9895804888
Chosen Option : --

Comprehension:

few av 7=t # Fo e geT R v §| few e
el Fr Fear ¥ og =9 841 9% JE
& fow 39gFd feed. & a3 i

T HATERT AMTF Tk g | Hs (1)
grar g1 3Ty ArET H W@ U 3T
(2) & & Tt ugrer aryar 5 & @ o aw
ST 1 =gT T 98 A= e # wgREd
(3) T AT T F HIAT (4)
Fa & T Faer s 1 39T F A=
ATHA I T & HRUT g e ATl FHATA Tehar
gER Fr  (5) FLT X 9T

SubQuestion No : 9
*® sz # Ffad ed wue (3) F e 3uged
IeE, B -
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Ans xl_ mﬂ
K 2 e
A2 3EE
v 4. 3T

Question ID : 9895804889
Chosen Option : --

Comprehension:

few =10 3=t & 3T weg g U Aw &) fqw aw
et & @gIar ¥ Noa Toe o 9eiss §E
¥ T sagea Rees &1 T39a FU

Teh HIENT eMEF U did & 3HUes |
grar g1 gl amEa H | hr e
(2) & & e 9grd 3reEr a9 & @ forr S
SITcT @ =g foF 98 eI A & wEEd
By AN Feaem@r e At (4)
F F T Faer s &7 39T FY) IFIEE
AT I 57T & HRUT gl Flel el THTS Tehar
TR (5) &l &Y =raTl
SubQuestion No : 10

G g # @l e T (4) F R e
g BT -

Ans xlﬁm
W 2 AT

'}(3.??{

X 4. TG

Question ID : 9895804890
Chosen Option : --

Comprehension:
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few T 3=t # $T =g FeT R T g Rw aw
fareat Fr mgraar ¥ g e o9 93 gE
¥ T sagea Rees &1 T39a FU

Teh FATER AT U Aid § Hides (1)
grar g1 gl amEa # | hr deT
(2) & & et 9grdr 3vuar a9 F @ o S
ST I 13T & 98 srcam=r A 1 wEEd
(3) X AR Feamndr F 9T _(4)

FA F forw Faer s &1 39T HY) FcgEr
AMT I 8T & HRUT g Hlal el TATS Har
JHIT Hr (5) &r T 9T
SubQuestion No : 11

§ sz F g¥fE R e (5) F e suged
IeE EIT -

Ans v . fEE
X 2 3EaAfa

X3 FFA
K 4 HAT

Question ID : 9895804891
Chosen Option : --

Qélﬁcmmﬁmﬁdga‘rqﬁnnﬁawﬁ#ﬁmmﬁaﬁqwmﬁl

AT Y T A Tl & TeTeEd AT F e B

Ans

v 1 Gl T IEEEdT
X 2 Fell H TEEEd
X s Goll @ TereEd
X 4. Gt &Y IeEAT

Question ID : 9895804880
Chosen Option : --

Q1 Rt 3 ¥ 3w Ry &7 T # S T T GG A 0 S ¥
A X1 oy 9o ol IX T

v 2 S FET T

X 3 fa a7 FEar

X 4 FIS F AT W TG

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Question ID : 9895804897
Chosen Option : --

% odr I T aeg FT IO Wt
AnS X1 e

& 2. sz

e

X 4 =z

Question ID : 9895804901
Chosen Option : --

% T T e F TEw T
e
ANS X1 o
X 2 geifer
X s e
v . faeaT

Question ID : 9895804893
Chosen Option : --

Ul R 1w e F T 5T A S s IR

S & T § 3 ATty #r Aemr & 3R seg dwet et @ §
e X1 Aty &

X 2 T3 #r HT FgEd TR

X 3 fafea g &

v o Fr ST R #

Question ID : 9895804878
Chosen Option : --

! frv AT weE ¥ TUUETN R FT IO Fi
Frerfer

LY

Ans X 1 TT
V2 gear
X G
X o R

Question ID : 9895804894
Chosen Option : --
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g Ture &7 e & T 39gea weg &1 999 H

_ # 99 T S A H{EeT oEe|
Ans XL e

X2 ofg

v

X 4 ggfaw

Question ID : 9895804885
Chosen Option : --

QUL o a1 arwr 3 Ywifa ¥E F SRR w F B SR R 7 T w1
FIET F GUI T FIAL AT
X1 qug waf w iR
X 2 qU¥ FHH FIAT AT
X o 9T ®A FLd AT
v o U FHA HE AT

Question ID : 9895804879
Chosen Option : --

% R T e F e suged oeg #oae

AT FATHF T F AR
Ans XL farl

X 2 i

v

Ko FFE

Question ID : 9895804884
Chosen Option : --

Y RE o e F R suged e # wed

TH & AT Fr TS AT
Ans Xlﬁ

K2 9T

X

v

Question ID : 9895804883
Chosen Option : --
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S Rl & gy F T o e gEw
ST geee BT oar

Ans o L efrereir

X 2 Gret

X mEf

X 4 gFofr

Question ID : 9895804898
Chosen Option : --

%? W T AT A T TATA HL
ms o

X2 o

X o

X g

Question ID : 9895804900
Chosen Option : --

Q2 R e A # @i @S # sfaraiE wE F R suge Ree & e R

TIT FF TWHT DT T2 3Tehr =TT
Ans X 1 FIF 9T BT I

X 2 3EH =T T
v 3 g =T T
X 4 FHHT 3T 1T

Question ID : 9895804881
Chosen Option : --

Qéz T a1v A #= FE s AT RS =g IR d
FEIERT & Siaa el gom F sl § 3R I8 T o It FEe s = g

Ans

X 1. geom & sty

A 2 AR TEr wA arer

X s amEt FAET off =T
v\ FETEIRT Fr S el

Question ID : 9895804877
Chosen Option : --
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